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o, Determine the coordinates of the center and the measuré 0 '
. the radius for each circle whose equation is given. .
1\2 - 2)2 = 16 -
L (x— 722+ (y + 3.4)2=14.44 2. (x + ;‘;) + (}'l o5
6= Center= (1. 2,~3.4) Center = (312) -
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01 ___—] 3. - 67+ (-3 =0. "
center=(6,3)  as = G

«£— Graph each circle whose equgfggjgfven. Label the center
and measure of the radius on each graph.

. 4, =25+ (y+1P=1226
center = (2.5 -1) odis=3.5

Find the area of each figure.

L j A=15-1q =2 A=13.5-6.5
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15m 13.5in.

Find the area of each shaded region. Assume that angles that -
appear to be right are right angles.
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Find the apothem, area, and perimeter of each regular
olygon, Round your answers to the nearest tenth.

i0m

Find the area of each shaded region. Assunie that all
polygons are regular. Round your answers to the nearest

tenth.

Area=1_}“0O

= Yoty 2E)
[Z 343.4 n)

Find the area of each figure. Round to the neal;gs

<:D1: - 5(11)(15) F 543)

t tenth if necessary.
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